
 

Examplemodel

The market for lemons AKerlof

4 cars
Each either good G or bad B

G worth 4000

B worth 200

Car card Value
I G 4ooo

z
Z G 4ooo TAI

B G
2000 4ooo

Nowadd information asymmetry
sellers know true condition of their car
Buyers know only distribution of conditions



How much should buyer offer

Whataboutaverage or expected value
i

EV q
Probability

payoff i
possible outcomes or States

EV E 4000 t EGood 3ooo

Bret howwould sellers react

Car card Value sell
I G 4000 No

I4 B 2000 yes
B G
2000 4ooo



only B cars lefe
Information asymmetry Adverse Selection

In equilibrium
EV i Loco t o 4000 2ooo

P 2000 only 13 cars trade


